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(D) (C) (B) (A) QUESTIONS Q-1
Iy porg | gy ot e U B L St |
Troposphere | Thermosphere | Stratosphere | Mesosphere | just above the Earth’s Surface is .
MgSO, MgCO; CaCO; Ca(HCO;), -q—t}ﬂr—-ﬂJ AN LA 2
Temporary hardness is because of
s P (7, LT -l s d 5 S g 2wl AL 5
Bromine Fluorine Chiofide Todine Which one of the following gas is used to destroy
harmful bacteria in water?
450 °C 400 °C 350 °C 300°C -é—mff/'fi:ff‘/tf:w/’u 75’/ 4
Crude oil is heated in furnace upto
B LK AP 6 PCl e CLsiPCLy | 5
mo! dm’ mol 'dm® | mol" dm” mol ™' dm
For reaction between PCl; and Cl; to form PCls the
units of K, are.
30y 4 2-
HPO, | HPO; | H,POF | PO - M2 ECCHPOS | 6
| The conjugate acid of HPO, is
-c‘_ﬂf/ﬁd}?(gﬁu‘y‘f/ﬁi
CnHzn Callonys | CaHzn— ConHansz o 7
General formula of alkyl radical is.
H,,CO | #ICH,,CO | #ICH,,CO | COus CH, e AU 8
CO, H, CO, CO and CH, | Coal gas is mixture of .
CO,H; and CO,CH; | CO,CHgand
COZ and Hg COZ i
' L /f ;’rro’la.CgH,4Urb/rawu/(u/y._(l 9
A hydro carbon has fy'lfﬂr/b/:ﬁlf/ii
CoHi, CoHay CoHis CoHig molecular formula of CgH,4. What is the molecular
formula of the next member of same homologous séries
D/t Ce/'ts B¢/t A e dnsd U Esetie St | 10
Vitamin D Vitamin C Vitamin E Vitamin A | Night blindness is because of deficiency of
0.03% 0.93% 20.94% 78.09% YN IR IR
Percentage amount of Argon in Air.
viNo, v¥so, v co, u¥'so, e tnS il e S APyt | 12
NO, gas SO, gas CO, gas SO; gas Normally rain water is weakly acidic because of
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Answer briefly any Five parts from the followings.  5x2=10 _u'_/ VA ; e /5" Zizl ékaél eSSl 22 /’ Ul

Write the use of Oxygen and Nitrogen in the manufacture of chemicals?

_ What is irreversible reaction? Give example.

Define Molecular formula? Give Example.
Write two basic conditions for an element for catenation?
What are Isomerism? Give example.
How is an Amino group tested?
What is meant by Tri-glycerides? Write their general formula?
Write the two properties of polysaccharides?

Answer briefly any Five parts from the followings. 5x2=10

Water is an amphoteric compound. Give an equation.

Write two uses of Acetic acid.

Why methane is called marsh gas?

Why alkenes are called olefins.

Write composition and boiling range of Diesel ofl.
Draw and label the diagram of Bessemer Converter:
Write any two raw materials for solvay’s process.

What is Calcination? Give reaction.

Answer briefly any Five parts from the followings.
What do you mean by atmosphere?

{dentify as primary or secondary air pollutants.
CHy, NH3, H;804, 03

How is Ozone layer formed in stratosphere?

What are pollutants and contaminants?

How does water dissolve sugar and alcohol?

Mention two disadvantages of detergents. -
Why are pesticides used?
What are waterbome infectious diseases?
Part I
Note: Attempt any Two Questions.
Explain structure of DNA and DNA have genetic code of life.

How can we predict the extent of reaction by equilibrium

constant?

Define a salt and give the characteristic properties of salts.
Explain the reasons why water is considered a universal
solvent.

Explain the Bassemerization with balance chemical equations.

Write any four uses of Ethylene (Ethene)

9x2=18
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question. Writc PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
KA ##30 K H#1s 4 ¥35 a2y S e300l FE S |
11 Km 30Km 15 Km 35Km About 99% of atmosphere’s mass lies within
Lz dg K2 A i sy f’ Uiss ‘.’c‘-ﬂ:lggf f’ ;JW!L/ i gf-fby:;{i./? 2

Quicklime | Limewater | Na, zeolite Sodalime | Permanent hardness is removed by adding
bl g o 12 e Which %&%(jjygﬂgdzk}c)’ufcufgf“}g/p 3
Hepatitis Cholera Jaundice Typhoid one of'the following diseases causes liver inflammation
. etV S i S TS0 4
450 °C 400 °C 350 °C 300°C B ',“r g
Crude oil is heated in furnace upto
,g/'uigldj Jad 13030948 uru}ild/ Z_Tuig,d} J:&b(!ﬁ-’/!d:g..ﬂ//b‘ 5
b ot | eI | gas g | HeSie | Atdynamic equilibrium
Reaction can e brsls Utz <
nolongerbe | SPeedsof | Theamount | The reaction
forward and £ ¢
reversed teianE olreactants stops to
reactions | and products proceed
are equal are equal e,
Selbndere Ll S &/ L) 6
Na,Si0; Ca0 NaCl CaCl,
Which one of the salts is used to dry a gas?
g UEz u’-”é‘-f (J//'T _w&:ff.:ew&_&uﬁtf/:l@% 7
Condensation | Resonance | Catenation Isomerism | The ability of carbon atoms to form chain is called

£ s Jis 4 e AT g e S ioin | 8

Silk Nylon Wool Cotton Which one of the following is a synthetic fibre?
SOk, | I | ST s ST | e byl e ST ASKMO, ((Ethene)orZ | .9
Propane Ethene Glyoxal Oxalicacid | Oxidation of ethene with KMnQO, produces
Glycol Glycol

SE nF ik Bl -;.rnuy,c_f L 9| 10
Glucose Sucrose Cellulose Starch Photosynthesis process produces

St .ulf/ .»..»Juf sl dLKJJL/M(u 11

NOz SOz Coz SOB :

Normally rain water is weakly acidic due to the gas
..?JJvaJUJ)(~§.b')’F.’L¢’(j:t/JJML—uCJUJ)g 12
O3 NO, SO, CO, Global warming causes rising of sea < U'"'( v u/

level, The cause of global warming is

1027 - 1022-55000 (3)
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Answer b1:ieﬂy any Five parts from the followings.

Give two characteristics of reversible reactions.

Why are the melting and boiling points of organic compounds low?

Define aromatic compounds. Give an example.
Why are the organic compounds poor conductors of electricity?
Define organic compounds Give an example.
What is the difference between glucose and fructose?
What is the function of DNA?

Answer briefly any Five parts from the followings.

How can you Justify that water is an Amphoteric compoung

Describe two uses of acetic Acid.
Justify that alkanes give substitution reaction
Why does the burning of alkanes require sufficient supply ofoxygen?
What is difference between crude oil and residual 0il?
What is the raw material for the manufacture of Urea?
Write two formulas of copper ores.
How slag 1s produced in smelting process?

Answer briefly any Five parts from the followings.
How waterborne diseases can be prevented.
How water rises in planis.
State the major sources of CO and CO, emissicn.
How does acid rain increase the acidity of soil.

What are the reasons of waterborne diseases.
How does limestone dissolve in water.

Explain the phenomenon of decreasing temperature in troposphes

How is Ozone layer formed in stratosphere.

9x2

What are Polysaccharides? Write any four uses of carbohydrates.

Note: Attempt any Two Questions.

State the Law of mass action and derive the expression for|
Equilibrium Constant for a general reaction.

Give uses of five different Bases in daily life.

Explain two Methods of removing Temporary hardness.
Write the five advantages of Solvay’s process?
Describe two Methods of prepration of Alkynes using

chemical equation?

1028 - 102!
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3x2=10
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What is relationship between active mass and rate of reaction?

§x2=

5x2=10
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